THOFE RiE HEHE (5 %)

EES 3 ®RE BEE HETE

Z ® ¥ ¥ 4|SWN6EE ZMERHAREREBERR

E E 3 | FMBRETHEHSE

= it & TR TAOFEMREES LUCFHKE - BT X (29~ 414 TE)

& 7 A fRME  ~ SM7E3[21H

E3 it < & %8 !

s : %?ﬁ?ﬁg{éfgﬁf MEGR HMRERE
FRTAOKRHSIIH T HZAMET R E - BFHMEICH T SHRHERIENR O/

i 23




AEEARE

#H TiE &Rl #A HE | B4 B &% e
AETE HES 0
Bl r ke . B#MEZEE015
HARR AN R ERERE 1= 0| L% % e
EEZRFTE 1= 0
= X %
R % O+ msEeET
REME 1= 0
SHERRUh A HETALEE 10|% 0
ARFTES 0




015 R HMERHE AR R

BR- R He Bfy | B &% HE
BT E R 1 = HEIEMKREO1S
BErinE A 1 =X HEITEMKRE02F
iﬂﬁ?_ﬁ?ﬁ'ﬁ%ﬁ 549 | kmi I EM&XFEOIE
i"b%_?_ﬁ?ﬁ'ﬁi(ﬂi 6.69 | kni MEIEMKRE0LE
HERIXMLT —4 DEE - fRE 1218 |  kmi ETEMRE05S
R REERT—FEMK 1218 |  kmi ETEMRE065
ERMEBER) T —IDHTE 1218 |  km e LEM&KRE07S
IV ERERL 100 = fETEMKRE08S
FIT AR T — 2R 1 =X fETHERFE09S
mE EERER 1 = ETEMKRE105
IbEHE 1 =X fELEMERE115

Bt

pull]




Bif—Ex

HfiRES 2R IR H%E 2Rivi Eff e
$01%5 T E %R 1 =X
$025 BErinE A 1 X
$£035 mERT—HERE - WS () 1 km
%045 FER T —FEE - Rk (BE7F) 1 kmi
F05%5 HERIXMLT —52 DELE - fRse 1 km
FE065 R REERT—FERK 1 ki
$£075 ERMBER) T —IDHE 1 ki
FE08% F IV EHR Y R 1 2o
8095 PR AR T —21E R 1 2
£105 mE B ERMER 1 =
115 ILEHE 1 =




Fo015 MEITHfx - AEER
(ax=Y)
AR #HE By Hi{f L] wmE
B F EHED A
B E A A
gl b3 I A




$025 HE T B {fiFR B RERE .
BFR-FRAE BE By B fiff &% S

palh=g 53] A
k=5 A
HIEBF A

Mg =® EEAMED %

M & =® EEAMED %
CEL %




8035 HET B ik HERT—SEE - WRE (FR) 1)
B HE =-Fivi B 1 okl M=
pilh=g5 31 A
A 2 B A
AEBNF A
WmEE = EEAGED %
& = EEAGED %
ast ki




58045 MEIHEMR MBEET—SEE-&WEEF

(IkmZY)

B HE =-Rivi Ei{f okl =
B E BEm A
B E AR A
BIEBF A

HWmiEE 2 EEAMGED %

M E 2 EEAHED %
CEL 1|k




%055 BIEEE HMEXMLT—20OEE HE

(km=Y)
¥ R4 #HE =-Eiv2 B 1 ] =

B E B A
B2 PR A
HIEBF A

Mg = EEAMED %

M E = EEAMED %
CEl 1 |km




5065 BIEfiR HERERERT—2ERK et 40
B3RS HE By Ei{f o] =
palh=g 53] A
A 2 R Am A
BIEBF A
W E = EEAGED %
& = EEAGED %
CEL ki




%075 MIHfiR ZERMER T I0HTE
(km=Y)
B R FRIE HE B3 Ei{f -] wmE
B 2 1AM A
R = 4% B 4 A
A=EBNF A
HWWEE =X EEAMED %
CE ki




$£085 B T B i 5= ALV E S ERR
a=HY)
£ Fh - R H=E BA{sr =i &% BE
B2 HEm A
B 2 HEm A
A= A
HWEE = EEAGED %
aEt =




%095 BIRER AHRERENRT—SER
(1t %Y)
B 4 ME | s B & HE

B8 BT A
B T A

I TEE = EHEAED %

ZEoE = EHEAED %
&% =




%105 BLEME SRETERER

(ax=zY)
B R #HE By Hi{f &4 wmE
A E AT A
gl =g s T A
AEEF A




F115 RETHEMER TEEhHtE

D)
AR #HE By Eiff &4 wmE
A E 1 HED A
A E AT A
A EFEmTH A




